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M.Com. (Previous) Examination, 2018
ACCOUNTANCY & BUSINESS STATISTICS

First Paper

(Management Accounting and Financial Control)

Time allowed : Three hours

Maximum Marks : 100

SECTION-A (Marks :2x 10=20)

Answer all ten questions (Answer limit 50
words). Each question carries 2 marks.

Tqug - 3 (3iF 2 x10=20)
T 79 T @ IR diferg (ITR AT 50
9e&) | Td W 2 AF BT E |
SECTION-B  (Marks : 8 x 5=40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08 marks.

g -3 (FF 8 x5=40)
A ¥ f&E " uwE @ SR afei (TR
&1 200 IeE) | G T 08 IF BT 2 |
SECTION-C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer
limit 500 words). Each question carries 20 marks.

% - | @% (2o x2=40)
AT 500 ¥eE) | WelE HI 20 3F BT ¢ |
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SECT]ON -A
m - ‘y é -

ble Assets 7 Give four examples, 2]

]

What are intangi
o f & ]
grsgt et 71 # ? ar gareeer afr |

24.00.000 is the cost of goods sold of a concern during
20‘17_.18, {f inventory turnover is 4 times, calculate
beginning and end of the year. Inventory
(2]
v <en @ ad 201718 & ANE dg T e @
AT 7400000 £ afe Y@ arrad iU 4 T @ A
&yt @ o B @ B vifa g e ) ad 4
ar=y 1 T Al B ARET T W A5 i

inventory at the : y i
at the end is 1.5 times of that in the beginning.

Calculate fund from operation  from the following

(2]

informations :

7
(1) Closing balance of profit and loss a/c 4.00.000
(2) Depreciation writlen off 30.000
(3) Loss from sale of machinery 10,000
(4) Non-operating €Xp. & losses written off  1,20,000
(5) Non-operating income %0.,000
(6) Opening balance of Profit & Loss a/c 1.20,000
Poyrfaifers vya 4 gRare & @ o1 o aafsm
4
(1) st i efy o) gy wifgn @ I 4.00,000
(2) HemTa A HW fagr a¢ 40,000
(3) o @) fah @ el 10,000
(4) R-aiffdar @ afte @ 1,20,000
e foeg
(5) R-affeefFy g 60,000
(6) M 3l wify ey areln A 1,20,000

(2)

(i'/)

(v)

(vi)

(vii)

(vin)

CP-1140)

. $ e
Explain the computation of cast B07
activities by thirect rrethierd

afrarat Gt 4 gemy (AR5 GO0

TIOTHT I35 |

. ‘
What do  you  rmean by wealth

sharcholders 7

P a— v L AEEY SN
AIRITI7E ) apserny pbppepppp 0 41 2000 200

| - p |
Name five factors affecting fixed cagiia
- y 2 L - - - o /—
‘:‘Wf’ﬂ r‘r AT 7""-”7'7 e Co B 1 L] Vier

feafaar |

What will be the after taz cont of pref shares [f

(1) Shyam Ltd issued 2100, 4000 pref
discount

(2) These shares are redeemable after 10 gz o

premium
(3) the cost of isaue 1572 per share
pfe . o refr
alerarer wut oy ws varey ok
,
s, 8 " y >
(1) wnum fafura o g w50 ws 2100,
LU IS O

(2)

NI 0 At oa arz er Giteig g g
(3) zwy Ay wrner 25 yfyy nar &
Find out payback penod from the $ollo

(1) Costof project
(2) Estinated cash inflows | year
Il year
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(1) wuftafroen ) @0 38,000
{;) “;rnfﬁﬁ e uae PO L "'d 16 000
. ml‘““ al 14 000

g it 12 000

: Forences betwoen peneral repart &
(ix) Write any two differences .

special repont

ey fafae ufdlas A0 Y Ay oy fadae

. )
(3} Give formula for shut down point (2]
g ave g 2 g OO

SECTION - B
oo SR |
the following information calculate the amount ol
(1) Current Assets, (15) Current Liabihines, () Liquid Assets

) b
and (1% ) Stock .l ]
[atio of Cumrent Assels to Current Liabilities 1.75 )

From

(1)
(11) Ratio of Liqud Assels (Debtors & Bank

{ Y
fialance) to Current Liabilities 1251

(1) Working Capital 303,000

foper g & () 9 gl i) e @i gn) A
anfans a (iv) @ 41wt sma A

() bar aunst @ fay adae oty @ s 179 I

(1) adnr anaed @ 4y ava dafen s (G
sy &w 2aw) 1251

(i) adaa if 23.03.000
Fxplain with reason whether the following will effect the fund
flow statement (8
(i) Saleof machinery 1o repay the creditors.

of fully pasd-ap
(410 '.Ill'lh-.‘\‘\ i [‘!J."l' " o "m’-r i H 4 ' ¥)

(i) Purniture purchased oo crodit

(v)  Depreciation of Tived awets

g1 ity @ gare aaem @) @wan @ " Wen
e way
() A 1 g @ fag wad A
oo g9 Qg-am A0d F av@ A waa ) &0
() Bf3e gv Wit 7 T A
(iv) U@ e @ qegra
4, The tollowing ts the Balance sheet of Ram Lad as @ 317 Masch
2018 X
l.l;-hmlln \-;u;l ‘. Assaty Amoent
g — | ® M .
2500 equity shares of T100 cach 240000 | Fixed avsets T.00 O
$000, 12% prel shares of T50 each 2.50.000 | Curreni Asseds
Reserve & surplus 2.50,000 |
jllndl) L iabilihes 2 50000 I
1’031'1“ i i-u—,;.(hﬂ I . N

Tetal “u

The normal eaming rate in camilar companses 15 153%. Ascermam
whether the company s properly capitalised when camung
avarlable for equuty sharcholders are

(1) T24,000, (1) TL20.000 (1) TTS 000

31 g 2018 ) W 3 21 fem Prsan ¢

B | ot vE () T e (D

100 wdw @ 2500 gAY fu 2.50 000 “‘—J\* e—

5000 12% WMI@m wue WO 2800 | Btan R

T W ! o

Rart s yfdw 2 50000 |

A Ws Ve gvre t

fafdw dnare 2.50 000 |

) e ——— ——d |

. 3‘ 00 000 | B \
CP-1140 3) r1o



[ -(: ﬁ" mﬂf = - ) .
ga uar A o ofad w1 A ol Bl R Vea!

$Hfoo fr @« X '

stannfeedt & {0 it ok | ! I \
_ o Iq0000,('ni)?75.000 # _ 0.909 0836 078 "
(i) 224,000, (1) 11 UF BIGR BY uewan st Qe w3 e

5. Explain the follo¥i"” 8] :“1‘]1”;2' AR Gl an segiaer B8 IR vg T
(1) (IunvcrlihlcC"‘mm“mwc Preference Shares S IS ISR N IE SR I I LRI

W URTa @9 iRy w1 W

es N Yegy gl Uy S a2
(i) Convertible debenturc:

. _ T g @ wt wd e e
fmy s i —
T g 1 CERIDE B
. : § Al ;
(i) wftedm d mEe weny a 28,000 P
fady ay N
(i) ufRadqa # ‘ ‘ A% 000 36,000
. gt oy 8 000 .
6. 1s over capitalisation is greater than under capitalisation 9 oy g ‘”'\ .....
' : ) o p 38,00 AR 000
Explain. N 18] Yot a0 ana o
' 1 ? au e W 109,
ant -'Hm—(f;ﬁ'm m—-‘{xiilﬂilm QT § 7 MR a9 @ 248000
" : . Al U :.-,‘\‘\.,
7. A company is examining WO mutually exclusive investment i o
) 4 \ie d Vi
proposals. The management uses Net Present Value (NPV) AN qe QU wirew D A we .
method o evaluate new investment proposals. Advise the T ax ) G000 T10.00
company  which proposal should be taken up by it Ao v 80% WA
Depreciation is charged at straightline method. (8] & UE WY A i ar adne T 10% Ve 8Y W
Year Cash Flow Before Depreciation and Tax i )
Proposal 1 Proposal 11 (I N ]
I year 38,000 38,000 0.909 ) ‘ lll IV
! y o e 0’5 YRt
Il year 18,000 16,000 8. Write short note on “Game Theory™ 0.0
1 year 38,000 50,000 Aa1 (D N U N
Mar (nﬂ) R{-.'i'[-ﬁ Uy Wi 1\\“1‘.“ I [¥]
IV year 38,000 38,000 RITCIN
Cost of capital is 10%% 10%
Cost of project 246,000 250,000 SECTION - ¢
Life 4 years 4 years [ERERER
Salvage Value (after useful Life) 36,000 110,000 9. Explain and Muostrate he follows
e ' & . . VLTRSS « Y 3 .
Fax Rate 50% annually 50% mterpretation of published 'h‘\‘mm; N ‘:...“' ratios used i the
= The sgp f . ’ H . ' ' ' Yoteom anes -
Note: The present value of 21,00 at 10% Discount Rate: (1) Liquidity Ratio SRR
CP-1140 (6) CP-1140
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(31y Stock jurp
e TIO
307 ¥ -
f{11) Average COV* -
—r
o ,
e 3 S 3
e g TR S

P i |
(1) TicH = by
- »—-—av,; -
{ny 5= C 0

() #°< ) capilal rcquil'cmcnts_
ffecting wOrking [20]
10. Describe the factors 2
5 2 A T TTA HTEH
i A . ‘;;"TT’:FT"‘ | >
= - ", iy |
fzer F1 r.v. G AIELA R ) .
o ) Ltd as at 31
halance sheel of Anila ppimdabal
" awrnarnsco aldiie e ree
11. From thec = .......1,,”7 + 20| § you 1€ r,,qux.rc )
March 2017 and 317 March SR 2T 43 March 2018
i e - . af =. d 3
fund flow statement for ey o1 of your answer 120])
e row T A e myarl © H
N Madaer A/CS) (}A-Uij o P-“
Workings (Jedge? Acs l
Balance Sheet of AB LIC__—
T _dw_—";;z-rr- as ot A — ] “'.
Liatalmies e — | 31
1 3 | March March
Mareh un?: "/J 17 | 2018
- b S— ———
= e |
- ! “—_____._4______._‘—‘?——_‘ v &0 (¥
- ——— 10000 | 2500
== 1 < o o0 | £.00,000 | Vient and | 308
Shvare ( mpotal ¥i el " Eachinery i
2 00 (A 4 (o
ol g o 120000 | Land and | 10 .
Genersl Poverve ) 3 Baiding |
H 7 60,000 2,00 [0
Pttt A lowm L D000 | 100,000 Suock %
gutie 1 s [ 1 &0 000
’ 1 060 000
. I | £ 000 | :‘J.'IJ Dehtonrs 1 i
Blasa Lown | L ! _
tLomg formet ! I . | & ) O o
| o ) 0 DO flang | 3.0
Prre 1t e !,4" £05 0 , 60 DX ‘ e
T axaixn H : . - 30 (500 <n
. ! T o 000 | Advance tax W, | '
GraradTy Credaunrs " §,20.000 : 120N | AC
Oupstaeding 5P ) s | 9000 | T; :
N 0 0600 | i( K
Yotal | 920600 { 11,1000 | Total 640,000 | VIO

i CP-1140

(%)

Additional Informations :

difsm | wridE o

(i) Income tax for the year 2016-17 vwas settfed at 244 000

(i1) Assets of another company was purchased l“rr « purchasces
considerations of 21.00.000 payable by the assue of fully
paid-up shares. Assets were Jand & building 230,000 and
stock 260,000

(iii) A machinery costing 250.000 (Book Value 220.000) was
sold for Z10.000 and the Loss being wiilien ofl apainst
general reserve.

(iv) Stock as at 31" March 2018 was overvalued by 250,000

(v) Oustanding cxp. paid during the year 2017-18 245 000,

(vi) Treat Provision for taxation and advance tax as non-
current items

(vi1) No depreciation charged on land & building.
w13 afqen faface @ 31 504 2017 @ 31 5rd 2018 37 AR

f."‘:;y

A 31 ATd 2018 &1 e ab @ fon S ya g qar
afd) 2 & I @1 foww BM

40

arfao |
B s fafaaz 4 9n o
2T wEL T WF3
" ", -
3; mall] 31 o] 3o | o3t ge
. 017 201% 2017 2018
? ? ? 2
wu7 oA 5,00,000 | 6.00.000 U3 5 3,00,000 | 2,50.000
EEhE
arir-n fPrad ) -
rer-a frard B0.000 | 120000 | %R 317 w35 | 2.00,000 | 4.00.000
et 3hr pfa 60.000 | 100000 | Ti4 260,00
R £0,000 | 200,000
-
“E ZU | 1,000,000 20000 | =
(i) . 0.000 | FOTETAT 1,00,000 | 1,50,000
@It & fan 40,000 £0,00 .
! s 10,000 ‘1"
il ) + 50,000 60,000
fafrs e
RO b 1.20000 | 160000 | 2ty &
iy 7 30,000 50,000
7 40,000 50,000
w1
B 9.40.000 | 1110000 | 7
: i N 9.40,00
T o : 0 | 11,10,000
P.T.O.



(b) if so, do you think that the prodUCIion of A should be

sifafves gaany , a frm
o ﬂ .J\i ;16-17 D TR 144,000 T AT T ' . _ discontinued ?
(i) frt 3‘_} oy A e, Rrer g gol gen an ufer ST SeureH ST T famy qoa A TBR T
F\Wg?”;’? oy &) Tl fe off N & .
Eh) ';ﬁa a ;m‘l 240,000, (2) ¥T@H 60,000 | i * :
1) 3 ,
~ N : T50,000 (Y o 320,000) ofy
; -+ i @1 : |
arfarfera famn T _ 36 52 60
(iv) a1 mrd 2018 B TP T I50.000 ¥ RO foan T 14 18 20
oL - aRGaer siaveey 04 06
(v) a 2017—18 ¥ ET T garrd M 45,000, : 06
(vi) @ @ R’W greRne d GTFCUI IR ?fﬁ RIF ?UF‘I‘:T?I qF\Tl . 10 16 18
(viiyayfy @ oraet w3 @G R ot TET et | <Al Sere 4,000 2,000 5000
12. B L. is producing three t_ypcs o.f products. The production EIE E’TW—PI”:I ug;?%(’; S IER:] GF(TIE';T B g Em—-n BIERIE
cost and selling price per unit are given below : [20] GfTﬁTﬁTag ; ﬂ;ﬁa‘[ Iqrel & Sared § 50 I
y ST A Bl g5 o1 @redl & Faifd
’; s g B FIE vl B @ | 5 T
\
a Rrgrg &
Selling Price 80 120 122 ((himémﬁ U W 5 Ao ¥ Head g
) afe
Material 36 52 60 TN SIS A &7 Ieq1e & a9 BT w1fey |
Wages 14 I8 20
i \—
Variable overheads 04 06 06
Fixed overheads 10 16 18
Production in units 4,000 2.000 5,000

The production manager wants to discontinue production of
one product and guarantees that production of two other
products shall rise by 50%. He wants to discontinue A as it
appears 1o be least profitable.

(1) Do you agree to the scheme in principle,

CP-1140 (10) CP-1140 - (11)
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M.Com. (Previous) Examination. 2018
ACCOUNTANCY & BUSINESS STATISTICS
Second Paper
{(Research Methodology and Statistical Techniques)
Time allowed : Three hours

Maximum Marks - 100

SECTION-A (Marks : 2 x 10 =20)

Answer all tem questions (Answer limit 50
words). Each question carries 2 marks.
weE -3 (3% : 2 x 10=20)
W gq 5w @ 9w afwg (S @6 50
) | WAE W 2 IB BT E |
SECTION-B  (Marks : 8 x 5=40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08 marks

uE -9 (FF : 8§8x5=40)
g ¥ R o ol @ SR A (SR
B 200 T2) | FRG W 08 IE FT £
SECTION -C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer
limit 500 words). Each question carries 20 marks.

% -§ (FF : 20 x 2 = 40)
¥ 8 @ vl @ S At (SR
500 ¥az)| WAE FI 20 3T H 2|

CP-1141 (1)
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SECTHON A :'
|-l\\q -y J‘
) What i Research ! 1]
W Y
) What i a Ouestionnanie |1

wraaa e @

Ay Wit the tommula of  Langrange's  method - of

mterpolation [

RONCE B IR IR T RS R A IEA I E A RN N

)

(v Explain the objects of the calentation ot moments. [

uidue) @) aeen @ adnl @y aels )

() bind the probabihity that a leap year will have 83
Al

Frudavs [
e ol Y A e 1) ) aiRaar g

() Give formula for Yale's coollicient of assoctation of
attributes (2]
TR WIBAR R RN S

(Vi) Explain any o applications of Analysis of Varianee.

2]

weey fasdner @ g @) aua wand )

(Vi) The mean ol Binomial distnbution s 12 and standard
deviation is 2. Caleulate n, pand . [2]
S — g _
Qs R R 12 @ g wna Qe 2 Ron
p g gRE g

Cr-14t (1)

20 I an industiy 200 workees, em
classified  aceording 10 then performanee and  traning
received ot weeenved to test independence of a specthie
tnny and - perlormance The data are summarized s
tollows: [¥]
Pertormance 1otal
Good Not Good
Frained 1o ) 150
Untrained 20 W S0
Total 120 S 200
Use ° test of mdependence at 30, level of sipmficance and
write your conclusion
[Data from ¢ table - " (1 dot 3% 184
e dREP N RN P Seart @ asa @ g 200
adadl Y afmm wa /A s @ owa A @l
AR RO IR RN LA S HRU I N NI R IS A NS ]
TSRS N KU BN R ESHININE ‘
craad (M P10,

, UN) What do you mean by statistienl Hypothesis 7 []

T I I UM R IR
(\) Wiite any two properhies ol distrtbution 11,

CRae ) Q) fadaand [k

SECTION - 1
vy — §

ploved tora specific job, were



——————-
Sp— ——e——

-

asf e W
T il aran
e e s s
araffarg 20 30 50
R .

5% arefwar s ww w-af A wasrr @) Sitg G g
ual fyand farfaan

[Fe1 W17 4% d@et: 47 (1 dof = 5%) = 3.84]

3. Calculate first four central moments from the following
frequency distribution 18]
Marks 0-10 10-20  20-30  30-40  40-30
Frequency 5 3 15 1o 6
o= angfer dea @ wem W @& aRtaral @ noen @
A& 010 1020 20-30 0 3040 40-50
gy : 5 8 15 16 0O

1. Detine and explain the tollowing -

(a) Mutually exclusive events [4)
(b Equally likely events ) 4]

fya 7Y uftmn &fSw va wwengy
(a) vy AT vl

(by wmfde et

CP-1141 (4)

5. U“rom the tollowing  frequencies, tind  out the

missng
frequencies: (5]
(=i aroanarl d SN U A1 @ R
o

(Ay =977 () LIRS (Cy - SRo
(AD) o3 (AC) 264 ey 270
(ABC) 127 N o000

6. What do vou understand by *Desipn of Experiments’ 7 What
are their uses [8]
Tl ) SFREEETA AU a7 S SCEhEl!

i“ P '

7. Distinguish between the normal and binomial disteibution and

disenss briefly the importance of normal - distnbution for

statistical inference, {444
gapr vd e dedi A e e aR aen il

fapd @ {0 wamE dest @ feal @l Ay i faddas
NSy

8, A sample of 100 students is selected from a farge population,
The mean heipht of the Students s 047 with o stundard
deviation of 4 Can it reasonably be regarded as sample taken
from a population whose mean height is 06”7 8],
U 4 TR 100 B G U e e an g url @
A dard 64 gu @ ol wang REert 4 ga ) aun ue QO
wa A foran s wen S waar § Rl anar Sargd
66 30 W 7

CP-1141 (5) P.T.0.




10.

11.

SECTION - C /
o7g — H
Py ’ i ‘1 v ol
What do you mecan by ‘Rescarch Design’ 7 Discuss the pla,
and role of hypothesis in preparing ‘Research Deswyn™ (%417

oot ort

r 7 seret ey #07 U T "
I wfivgen @ g @n I &7 U T N
- < K 2 np s o s '/-, weikpese Z
foysior sf ufygezpen @1 AT Y4 A G ARG C AN hre

wifry

Find out the mumber of workers earming s 20 of mote bu

less than Rs. 24 from the following data © (20
S . . 14
Earning less than (Ks) @ 20 25 30 5 4l

No. of workers I 0 L B T
fresina arfeet @) mmua H 94 gfteg: 4 stign o
“i=end dilaagl o Xz el i J4 ZAHapl A | &

Ll ol oy e we Py o & e Y pp——
"F:Tf:’f” f:T'fd:T 15 20 6, F N v :_' 24 %9, Y ar¥
e (9 wH) E 20 78 a0 35 41y

gfept 2y s 300 600 200 900 1004

(i) A bag contains § white and 7 black balls. Arother bag
contains 7 whitz and % black balis. One bzll is selected
from the first bag and i1 put into the second hag, without
Inoking it. Then a ball it selected at randorm from the
second bag. What is the provability that the ball so drawr,

15 ¢ white ball 7 (6]

- - I - - >
Uih FAZ ¥ 5 IMAA ARt el Tk e

Dy = g T2 :“- T’-"; -7 P 4
qoel d & il T4 [ U 0 TAaT

— 7 ¢ Sy =rrr SreTy o o P epeey Epnie ppmes ¢ serre
AR I a1 <A 7Y 7T wAT H At | ger

ozEra ¢ FAd A uigfiess vy ® v o w4

CP-1141 (6)
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M.Com. (Previous) Examination, 2018

ACCOUNTANCY & BUSINESS STATISTICS
Third Paper

(Higher Accounting)

Time allowed : Three hours

Maximum Marks : 100

Section-A (Marks : 2 x 10 =20)

Answer all ten questions (Answer limit 50
words). Each question carries 02 marks.

TUZ-37 (30 : 2 x 10=20)

gy 9/ W @ I Qf (IW O S0
WR) | WEF W 02w F
Section-B (Marks : 8 x5 =40)
Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08
marks.
AUZ-q (3F : § % 5=40)
T ¥} e ww W F SW e (SW
T 200 UR) | THF WA 08 3FH| & g
Section —C  (Marks : 20 x 2 = 4(]
Answer any two questions out of four (Answer

limit 300 words). Each question carries 20

marks.

Cp-1142 (1)

P.T.O



Q)

(i1)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

CP-1142

au3s-8 (& : 20 x 2 =40)
o v F IW AR (IW

e A fFE e
o 509‘21“1) I 20 TR T B

SECTION-A
gus-AH

Explain the meaning of “Profit in Economics™. 2]
qpafqrre 3 a1 31 T
What is meant by Responsibility Accounting ? 2]

Explain the meaning of Human Resource Accounting.

[2
o7 T odd @1 el gaersg | |
What is Social Audit ? 2]
wifore aidenr fd HEd B ?
What do you mean by consolidation of shares ? [2]
gt @ WA Y T T [AS & 7
What is meant by Inter-company transactions ? [2]
TR AdERT W 3T FT FHIA & ?
What do you mean by Minority Shareholders ? 2]

STCURTEI RN A 7T @ar s 8 ?

Give the functions of Accounting Standard Board in
brief. (2]

HEY ¥ o A Avgel @ Brd dcelsy |

What do you mean by non-performing assets ? [2]

R Frenfea wofl ) amg @ @R g 7
(2)

(x)  What do you mean by reserve for Unexpired Risk in
General Insurance ? [2]
SeiEa e L s L s | Sl @IS W gy
areryg & 7

SECTION-B

-4

2. Describe the limitations of Rcspumlblhl.\' Accounting (8]

3. Distinguish between “Profit in Accountns and “Profit in
FEconomics™. (8]
i § AT gur seigmed W H ST T B |

4. What do you mean by cum-interest purchase and sale of
securities 7 Explain. [8]
yRfl @ @i afdd g ud f@wg § ST 9 wEd E 7
[HEnEy |

5. The paid-up share capital of X Ltd amounted to 32.50,000
consisting of 25.000 equity shares of T10 cach. Due to loss
incurred by the company continuously. the directors of the
company prepared a scheme of reconstruction which was duly
approved by the court. The terms of reconstruciion were as
under :
(1)  Inlicu of their present holding. the sharcholders were 1o

receive :
CP-1142 (3) I.T.0

————
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| ~/5th . K

() Fully paid-up equity shares equal to 2/57 ol their
respective holdings.

i 11 210,

(b) 5% preference shaies fully paid-up equal to 20%

of the above new equity shares.
(¢)  3.000 6% second debentures of T10 cach.

(1) An issue of 2,500 5% first debentures of T10 cach was

made and fully subscribed in cash
(i) The assels were reduced as follows
()  Goodwill from T1,50,000 to 375,000.
(b)  Machinery from 50,000 to ¥37,500.
(¢) Leaschold premises from 375,000 to 362.500.

Show the journal entries to give ceffect to the above scheme of
reconstruction. [8]
X Lad. @ wae ol 250,0006, off G fai 25,000 10%. 9Tl
AT ol A e @1 @ @) e gl @ erRer
derera) A ver yafaiv @ dorn g (SR ey R
il g @ ) | gartaion @ wd Fe aer oA

(i) oo anEYy axiAiE aiell @ RelFl R WGl R DT

(a) adart ofgl @) G @ 2/6 @ avar ol ged
SHGINEL
(b) T ywar sfwi @ 20 ufdewr & @R 5wl
yof yaer gatfer ofr |
(c) 10%. dral 3,000 6 Wi fadra o=
(i) 10%. drel 2500 5 ulyerd werr HOMH W) fHy T

Ol & e N vl afvad g
Cr-1142 (4)

(i) wrafRrri T v e -

‘ \ - 000
(ay @ @1 1500005 750

() e @ 500006, 3 37,500

\ ) 4] 62,5007,
() Sdn A ) 75,0008 ¥ 627

' . x @ ey SHd wfafteni
SRy eRfasT @1 g @S ferg s

Afar |

: .. eafits and post-acquisitio
What is meant by pre-acquisilion P'“i“' ! | n

0. . s dated R-
profits ? How are they dealt with in Consolidated Balance
Sheet ? [8]
wuud @& @M sk FaE @ @i X 29 GAr ¥EET ' Y
i Fies 3 g e fae sepre TR fpan I g 2

7. You are given the following information taken from the books
of a bank :

o o a : Z1'000, omitted|
(a) Standard Assels 3.200
(b) Sub-standard Assets 260
(¢) Doubtful assets but sceured :

Upto one year 140

One to three years 80

More than three years 40

(d) Loss Assets 100

Ascertain the amount of provision required to be made by the

bank. (8]

MUP TH db B GG A S W Frefafag gamw o
SRl B

CPr-1142 (5) P.T.O
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A Ltd and B |« g

The following are the balance sheets of

B o 000 gy
— 3.1:0(
(@) =rie yRafaTd j“:
(&) s wrTE ot
. e GORd
(@) gt it AR T "
Us af d&
o 80
o at & o v
100

(@) it wof

wmmaﬁ?ﬁﬁmaﬁmw%m%ncw

ey |
Distinguish between :
(i) Holding gains and operating gains

(ii) Monetary accounts and non-monetary accounts.

(8]

3TX §aigq -

(iy ©Ter @ e uRare <

(i) #ifzw o g R-AfEE o |
SECTION-C
|rs-u

-

What do vou mean by Replacement Cost ? Examine ’[S_
relevance as a basis for providing depreciation 1n tircs ol
changing price-level. Also explain your own viewpolint givinz

: _ 20
suitable illustrations. [20]

URATTE H W et g arad ® 7 uRadeeier T
TR D GTH R e gy andre @ @ forg ST

Cp-1142 (6)

31" March, 2017
articulars
LEQUITY AND LIABILITIES
(1) Sharcholders fund :
(a)  Share Capital

Issucd & subscnibed

Equity shares of 2100 each tully paid-up

(b) Reserve and surplu- -
Reserves
(2) Noen-current liabilities .
(a) Secured loan : 6% Debentures
(3) Current Liabilities :
(a) Trade Payable : Creditors
Total
I, ASSETS :
(1) Non-current asscts :
(i) Fixed Asscts - Tangible
(ii) Other Naon-current Assers
Preliminary Fxpenses

(2) Current Assets

Total

S —_— 4

Goodwill of A Ltd and B. 1id 15 valued at T1.20.000 and

40.000 respectively

intrinsic value of shares.

Give journal entries in the books of two

31 W 2017 @ U fafiT gen

e & .
CP-1142 (7)

l i "
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—— —_—

j A. Ld i1 e
| y .
|
|
|

6.00.000

:‘.‘H ]
2.00.00¢

I S0 Q) |

|
|
i
|
|
]:‘_:“JHIV :,.lllll:
! 830,000 |25
I :’-1_(I\ i

r 12,530,000 |6 10600

- A Lid purchases B Ltd. on the basis of

companies =Y

D fafie & fee

P.T.0
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B = . kl, g0 ’ n '
- —--/"""— o | & Particularsy Aoy
e B @ 1 . w“ ! . 7
/ 1 - V: . E r
;‘7__7__;7 - LEQUITY AND LIABILITIES, |
ﬁ"’»’-.'- ’-""i ; I Shareholders tund |
(1 &1 (2) Share 0 znitsl |
- - J
(2y 777 TE hsued & wutreribed capita) |
i T TS : "
- AaE 7R THAl P T4 o] 600000 ¥ 3050 005 V1% Preference shares of 710 cach fully paid-up | 1.0 11
crpE s e e .
o B T 5 ’ 10,0050 ey ity shares of 210 each fully P:U'J"'." ‘ 1 5K g
() Ta2 A7 X 2 00155 m 5000 equity shares of 210 cach, 77.54 paid-up 17,5400
P ft) Kescrve of Surpiu
2y P T U o 00,000 |, 0 Statement of profit & loys [ (38,500,
4 2100 FR) 3 100 Sk £ : ‘
oy w2 TN i ! ! o 2. Non—current Liabilities -
=4 2 i\ 1
. % - i ! (3) Long-term Bomrowing., - j
b 280060 1 S0 i) i - B -
(3 & T TS 1 - i SE () Secured loan  11% debentures | 1.50.000
A
—T—-"‘"’ | 1250000 | 61000 Mungage Loar | 400
L7 T X -
I g .' 3. Current Liskilities - |
L B i (a) Shon-terem Borroai e Bank Cvesd ‘
‘ g Bank Owerdraly | 300
e o 530 00K \ 2 S8 PH (by Trade Payables ootine, for lrade | 3 {
¢ ¥z 30000 | 25000 T | 22000
iy Pz v=ER ‘ (c) Onher Curtent izt e |’
2 ""’_ ol wy
!uiﬁh.z.‘-‘!"lm | Inco A% 0N arreary 500 i ’
= sipad | ‘Tecen e L% in arrears a0, ment in Dec. 2006 ¢
swixy - For Assessment yeur 2014.15 51 ey |
4060006 | 3507 o
W—— i ,7 1 For Assesimeny year 201%5-16 < 000 6 1
) T S —— — 20,1¥4)
= 150,000 | .30 7 Fotal —
5 — i . Massers. T ———— | 5170
n fmrz T & ffEEe 4 wmA W OWEmas o7 o I
[ . 3 - P 1. Noan .
s S - f-,;-" - i",.l - f;?'“"f'? i $=frrs im-current Assety :
] a B 2 I'd ; ¥ & P ' A2
w1 & & =ERa gl v e W E e 71w ) Pined AssetsLzod 2. Bitdings 120,000
a] e @ B
f (h) Onther Wiy .
Wy & o & B i ae i b ST INGn-current Avels
swiad # geat & e S aAT )
3 ) Debenture Tysue Frperey
2,600

—

11, The following i the balance sheet of Ram Lid 25 2 ° % Current Avsets : Sundry Current Assety

———— .

Szrch, 24T Total

.

———————
—————— e
o —— \_]

Cp-

3.95.000
£17 5604
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CP-1143

M.Com. (Previousy Examination. 2018
ACCOUNTANCY & BUSINESS STATISTICS
Fourth Paper

(Cost Accounting and Cost Control)

Time allorwed - Three hours

, v
Maximum Marks - 100

Section-A (Marks : 2 » 10=20)

. Answer all ten ocuestions (Answer bmit 50
words). Each question carries 02 marks

Tz .3 FE 122 10 =120)

- - - - - — .'--.- £
Wil T8 §99 % Tw7 #=n (=7 vho ¢

E o <l 50
- ———— ool
7":‘;., | BO% BYE 02 FE T » i

Section-B (Marks : 8 2 5=40)
Answer all five guesions. Each guestion has
mtemal choice (Answer limit 200 words). Each

QUESLION C2ITICS

cames 0% marks

—— o

- :
= B U B T3 = -
5% 99 75 D IR AV ) ¥3F Y =
s o — t  frery o5
G PG 357 B o0y = )
- S < J-)
FTOB T 08 & &1 2 *

Section-C  (Marks: 20,3 = 40,

TR PT RN ‘0 CUesSiIONS curt £ona A
Answer any two guestions out of fgur (Answer

. b F < N 4. - | = a F
limat 500 words). Each question carries 20 marks
arks

(FZ 20 % 2 = 40)
mAinfER ar TR St e

s -t T - P 4 it &

il 500 TR | e 29 20 T 2y
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SECTION — A
YUL-3
LM What s operating costing ? Name any two undertakings
whero s to be used. 2]
UL I Q3@ gy ¥ 2 e @) el
s aand e g QR wr s s a0

(i) Explain the meaning of cquivalent production with
teference to the valuation of work-in progress in process
costing, [2]
BB e B @ il A e @ ageniae
CLL e IR B g |

(0 Tow s the profit on incomplete contract calculated?

[2]
gl Q¥ Ut o aien 1w g fdan i &

(V) What do you understand by flexible budget 7 [2]
el eraNer aore N am aun g 2

(v Caleulate material cost variance from the following
informations ; [2]

Byt e 31 aeelt H:HUI a1 aopr afeny

MJh Il |l NIE E'Il \Luui.lhlaglﬂ'l f\l'lllrll -ll\'hlli‘il;h

Y 120 kv\ TS per ko |1 I ) I\yx (m s plr k.

y \mm: THopar ke | SSkgs@ ¢ 10 per ki

N YT T

[B;i I T Tso

(mnpm uéu‘«g 'llitﬂy\ o ses
(vi)  What do you mean h)- break-even-point ? 2]

CP-1143 (2)
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nefetr Prcine
¢ » . uble fran®
(vir)y Dehne the meaning of do 3822 7] |

dsifer di At
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t 5 4 A
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b ] e d

et
(viii) Which contral  aceounts 4 -

terial P
m;nnl.mutl i respect of mi oy

a factory ?
¥ :"[1;':" 1y
ey '!-I J] i iy e bl !

Y .
heumd

et O (v e o e AR

birt e ]
grences Leta
(ix) What can be the rcasons of diff o
ot a 'l V7
costing and financial returns

/ < ’ ‘ ’

i1 R P L (4 IR
e e fadya sl @ tfauri

IRl

abmetnal watage
(x)  How will you uunpulr |hf value fof

in process of cont accounts

ufoit cnirer fedfeo o afe |'1f gaen wa dn 0 e

gapre ey ot 8 7
SECTION - B

74

, &

H 1 1 % 1 o5 ol g% v P 1 of 'r-r‘:r'l
2. How the unit cost 14 determined in case of tranuport costing

[#]

— S
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\ N‘-'.ll throg Processes fop ¢

A nroduct pOSS (ot . o unuplvrm,l
‘ ¢ endifg v 2 March, 2007 the couy,

Dunag the quarts AR

production s ¥ fullow? ) N
- fotal 1y v "

: TR ’
Direct Materal B4.820 ; 20,000 1 30,200 1 3 Lo
Durect Labour 1.20.000 | 30,000+ 40,000 3000y
Drirect Fxpenses 7200 L0000 £ 2260
Production overhead 60,000
Normal waste on npul 10% Mo 10",
Sale of scrap pet unit i 150 N
Production (Units) 9020 | 870 800

1000 ynits at $80 perumt were issued to process X There yw
o S

no-openmg :md clux'my. stock ANy process |'lnn|lll‘lll
: o
overhead is allocated to each process on the hasis of §00 |
: ool

the cost of direct labour. Prepare process acceonnts [§]
v v et o @ g e ulmaan o et @y @ g
ard 2017 ) W O A e |
Jeuras (e uaw -

R S LU T TS

- bl \ ¥ |7
weef eeh h:-l,ﬁlli 20,000 [ 30,200 [ 34.620
WA s 1,20,00 | 30,000 | 40,000 | S0.000
ey a@p 7.200 50000 | 2200
RIT ) G ) RARS 60,000
RE I (G R I VIR e 10%, 5% 10%
uld g wha o) Ry 00 350 ] 260

_G_a‘u\.'l_(,n:'n) 920 | NT0 800

CP-1143 —
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Cr-1143
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0 e credpt of P&l s/ that portion of esttmated profie
Ciasly basis which the work completed bears (o the tory

b

CONFact, l‘\Ll”:lI\ ‘(’H 1}]‘-_‘ ",’l,’:” -””’3 I’] Ill“l "‘”“"ii“ Y 1”1 ”Iu»-

year 2016-17 are s follows [20)
2015416 2006-17
Actual Fstinted
Material jssue ) ;
trerial jsaned 75,000 },30,000
Libaur pand 50,000 60,000
Labour acerued 5,000
.
Plant jssyed 40 00)
i‘. Iy »
xpenses incurred 20 000 35,000
Muterial wt <ite
satersal at aite 5.000
V'v ' -
ark Certified 2.00,000) Full
Waork uncen. d 7 50i6)
Cash receive
ash recerved 1.60.000 [ull
"L’.‘ I rciummeq at cos:
ntrcturned at cost 15,500 25,000

(31LU3.16)  (31.12.16)

Deprecuste plant @ 20% per annum. Contraci js Likely to be
completed on 31 December, 20106, Prepare  contract account

and shaw vour work
your working., gl
¥4 (20)

A B T4 BUE, 2015 @ v 3 an wrnd Ay (3
:: WA G00000 (S FRI arpmiam) o afa
;;:: b &9 10% @ Ten o e fen ) e
A B g e A g e A o
yifa v o yEafag an w1 g mte @ PRA—— 1ﬁ
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U R
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fan muowd
Hige g3 gl
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A ol
A AT €8
g o

AL IR

75.4 Wi
5000 1]
5,000
A0 000
20), 000
000
2,040,000
7.500
1.60,000
15.500)

(31.03.16)

W @ 20% affE | gl T e

2016 T TATA B &1 FHEA 8

uftaas yatda st

| 2T T qAEY g 3
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10. Calculate fixed overhead variance from the following : [20]

Budgeted hours for the month
Standard rate of articles produced

Budgeted fixed overheads

Actual production during the month

CP-1143 ()

1 80 hours
50 Per howt
- -

2700

9,200 articles
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1. Write an essay on masagement control and cost informun

system

!.8"..»5.\.

N e - NS
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(2) 10% decrease @ selline
0,600 1 T A0 min.

() 10% meresse i selling
6.600 10 3,700 vains.

The present cost is a5 follows :

Matenal and varianje cost

Selling price

Fixed expenses in ey

Which sugzassion 5 recommended ©

CP-1143
(10)

ek s e . 4
The following mo saggestions are under consideration -

price will decrease sales

130N

201
Tl W U 5=

[20]

price will increase sales from

Py
IO

3500

31,000

T30,00.000
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